EARAROBEEIERT — 2 N— IBISH —F

20175F4A200 (K) 2@EZHE3H

IGR 5 >C7# C7 ¥5%—M B R
[AE4] 1 % :200,000” ~ 23#%:50,000F ~ 33#&:20,00M™  4#%:12,000M 5 & :8,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1Bz vzrIey—> o4 sﬁiﬁoﬁl 1:(3_1).2 2-2-2-2 |39.6| — 1 412 %%EI% (BEE)
RNT BAmSAH LT SN Ry SN
olsls | BERRIA= T # 5 {lﬂ%?ﬁ& 1;(3;).9 6-6-6-5 |39.0| — | 4 | 3o hﬁzﬁ)ﬁ“fﬁﬁ%)&vay
QLS eI EuE BEIRTI—L | s
N | MEEE Y it 4 ggﬁ%gl 1(:13/22.>o 5-5-4-4 | 39.7| — 6 487 zgﬁ_ ié%ﬁ@
Qio—Ushi— BT/ IURT4— O U XA 2
s 6| ¥ANIZTATR o4 ;%Egnﬁ 1:(332).6 3-3-3-3 |40.5| — | 2 | 481 %EFE;?E%)#
QiR THANAN BTARIXT N | o ¥ 5o
5lglg|Lysnys—2 o4 ggto%m (11:312/.29) 1-1-1-1 [42.3| — 3 | 456 gf%lg—)\ (BHE)
R:TF—FAFAF—ZHL B I KLY A 0| Eapsg
6l7|l7|HH/H)R= # 5 | KRES 1:(323).3 8-8-7-7 |39.9| — | 5 | 407 %g%i\_(iﬂf;‘)?
QO—YXA AL Bi¥rvyFIL—X O iy 55 n
7 o| Va—TF%kDY 6 Elﬂgﬁi 1:(3;).3 7-7-8-8 [40.9| — | 8 | 438 71?@%{7? (%E%L’ya>
. o s
R:TTYIELE BETULA—L SO A A
glilq|2u—7245 # 5 ﬁ%;éc— 1(/7311::)3 4456 |47 — | 9 | 440 i{lgi; E;ﬂk)ﬁﬁ)
L:Z2Y—O-IZX B:XAXHATLET (+4) FHAE
olglg|=vxt>7717 7 ;:Esza%% (193475) 9-9-9-9 [43.0 — | 7 (41; iji?je (BEE)
L:ALT7A4T7 B:¥FrOvF BEH FHiC
® I—F—@EBIERL
13—7+— 9,3,6,1,4,5,2,7,8
2o=3F= 9,3,6,1,4,5,2,7,8
30—4— 9,3,6,4,1,5,7,2,8
41—F— 9,3,6,4,5,1,7,2,8
[ N5
-y 3 1208 | [ 74 K 3-5 240/ | | B = 3-5 670 | | 3EfE 3-4-5 4,420M
# B 3 100M 3-4 940 B E 5 660 EE 3-5-4 8,750M
5 200/ 4-5 3,860 B E 3-5 750M
4 880F

ABICOVWTRDTEEERROODE. TR LIV,




